Ml = 0l &8 AFESE Z Al A
2024E % =204 LB X1t
2A: X1t
M Thaigls oHNE TAI2IE
CH2l: THoH AHECHYI (e D)
SA B S(SH) - HBAY - BAS B SR HRS2
pRESH 10, 178,763 12,228,944 A2,050, 181
Al 3,600
- 10,175,163
THoHGl= OrXBH CAIZ2 1,225,854 1,848,964 2623, 110
Al 3,600
- 1,222,254
THoH AFECHH] 162,623 127,763 34,860
ZA0H OHAOHE HIH B 162,623 127,763 34,860
201 LB 131,123 106,763 24,360
01 AFRZ2/H 51,558 52,748 A1,190
20] 51,558 52,748 A1,190
NN S QM 7 000211402 980
1)S=UEESE oY 1,550
2)a=oll0lle &t 100414, 0000H 1,400
2) oI 1,500 %1007H 150
1)ExolE2s E22 & 528
2)E2 &40t 8,200+ m x5H 328
2)EL FEX 1002*2, 0000H 200
1) 2 0H 21,480
2)P.POITH(E) 4002 %20, 000= 8,000
2)P.POICH(A) 250R1%20, 000 % 5,000
2)PEHIY 34,0002+502 1,700
2)p.p22 1,2002*1002 120
2) Al 1,2002%50H 60
2)2HOHCH 2.20024%3, 00074 6,600
1N=YAEE S22 2,730
2) 9,0002/*50H 450
2)330 20,0002 %5074 1,000
)=y 3,800 % 100K 380
2)EMS(HHERIZE) 8,00024 5074 400
2)ASZ(HIECIZE) 10,0002 50K 500
NES6 28 SAA 2
200,000 x2 x4 1,600
1)ASPA0IE 2L RSG 29+
70,0002%3 53] 1,050
1)=2taed I=y 13,600
2)AttolAl 29 10,0002 %250 2,500
2)DEA 29| 10,0002 %250 2,500
2)Hle 2 50,0002 *40EFA 2,000
2) A AFE S} 12,0002 %150= 1,800
2)L =&} 12,0002%150% 1,800
2)Z2A(e2g) 25021%12,000Z 2l 3,000
1)212&H| o] 8,040
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SA: XD
HI: T orEE TAIZR
Sl THGH AMECHHI (o) ®el)
- _ = o & S Ol AboH =
SN T BR() - AIBAY - BaS B by RS2
2) I IHOI(13] BAIZIIIE)
720,000 %3CH*23] 4,320
2)HIES(13] BAIZDIE)
620,000 *3CH*23] 3,720
02 222G 79,565 54,015 25,550
S0f| Ak 79,565 54,015 25,550
NEAEBAIAH SE4Q2
1,666,66621% 122 20,000
DESERE 1,100,00024%13| 1,100
NASX228(KSU], 4=2H-32)
3,000,000+ 1CH 3,000
12+ 282 2,000,000 %1204 & 24,000
1)EESEARY X2l
20,0002/ *80 ) A+63)] 9,600
122D |22 50, 000 *82CH 4,100
1)GHEISI D ASAI AR AR (630HA)
1,010,000 * 122 12,120
1NEIIL2(CCTV S 3BMA) 3,725
2)0|1=2e2 910RI*3KWH*33TH A% 122% 1. 1 1,190
)Y 2= 12020% 1, 600KWH* 122 1. 1 2,535
o2 Y T2 oHY 22
40,0002 %4 A 122 1,920
203 HREZTIH| 1,500 1,000 500
N EEEEESL 1,500 1,000 500
204k 1,500 1,000 500
1)2tesl 2 X239 1,000,000 1,000
1IHOHMY =R LAl U GHEHA
500,000 500
302 OIZ=LTHSHEAZ 30,000 20,000 10,000
02 QIO EPE= B A S 30,000 20,000 10,000
20f 4k 30,000 20,000 10,000
DESIGHT WHK2 X2
6,000,000 %524 30,000
HS2HTE 2% 2 X2 120, 149 122,677 A2,528
HISEHTA 29 o S22 120, 149 122,677 A2,528
201 L2 84,028 81,727 2,301
02 222 84,028 81,727 2,301
20f 4k 84,028 81,727 2,301
NEI|oHEBE| (a2 8,821
2)EES HIE(KL)
140,500+ 1221 .1 1,855
2)EEE HIE(DQ)
637, 200262 1. 1 4,206
2)EE= MBX(DY)
418, 100246211 2,760
NOERLAR (SHYSTHIH) 1,949
2)J12R3 (167,5002H750kw+2CH*1,069)*1. 1 1,949
NHSHIN S LUAIES XA &2
285,820 24+6IH Ak 1,715
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SA: X232t
M2 JHoHSls OHEEH CAlRe
Col: HISEHIXN 29 2 S22 (EHel: &2
S EE SRS - HSARY - BES (ggz::) @%%%"ﬁ" e
N+=SLHEIZ 22| 900,000 *11CH 9,900
1HIAZED| S2H| 1,8452%75x2CH 277
NEIZ 2 JIAAL 202 49,365
2)MARSNAAN(SHSHIH) 22,250
3)Ees 7,220 2 *366kw*6R* 1. 1 17,441
S HBHRT  145.724%5,000kwn*6E*1. 1 4,809
2)MARSNAANSESHRA) 5,011
33 7,220 24+ 90kw*6R* 1. 1 4,289
AR 145 7% 750knh*6 2% 1. 1 722
LA SESHIH 2 2)HA) 8,120
3olEes 5,550 % 105kw 1221 . 1 7,693
3)HHHRS 107.724%300knh* 122%1 . 1 427
2)UBIR2AMHSESHIE 2| 5)4A) 13,984
3)J=ea 6, 1602 x86kw* 1221 1 6,993
JHHLRZ  132.4R%4,000kwn* 1221 1 6,991
NASELZ(MEXBIE Q| 2JHA)
1,2702+30E+3M A6 2 686
NoERL2(MEXBEIE Q| 2JHA)
7302 *30E+3H A6 395
1)ROIABEI| ARE(SES HEX)
80,0001 A 12 960
NEHIZ SAQI(SEE0 200, A2
AIHION) 80,0001 A 12 960
NEINY X2l 3,000,000 *3IH A 9,000
203 AREZIH| 600 600
N EEEEESE 600 600
204k 600 600
NYSEHIA H2=X 600,000 600
401 Al&EHIZ 20| 35,521 40,350 A4,829
01 Al&H 35,521 40,350 4,829
204 35,521 40,350 A4,829
NHSEIE . M| MAILSRXES
20,000,0002* 14! 20,000
NHSEOIXN MM 2
15,521,0002 %104 A 15,521
ol S A2 Sxze 943,082 1,598,524 655,442
Al 3,600
= 939,482
StEAlIEE HY| 867,029 851,506 15,523
201 L2 41,119 25,596 15,523
02 2229 41,119 25.,5% 15,523
S0f| Ak 41,119 25,596 15,523
nNzze2 28,619
USSR I3
70,0002 % 1A 12 840
)20 ®IIRS 300,000 +2IH Ax5R 3,000
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2A: X2
HM: THoligls QHEE TAlZ2
ool Bl S AI&Z X2 (c+9: &)
S - SIS - HISAN - HAS (ggz::) @%%%"ﬁ" e
2R AXERS
300,000 *2IH A5 3,000
2)JIS82 M=d| 60,0002 * 1 JH A 122 720
2)2Tm XY My
80,000 *30H A 122 2,880
) I=ES W IPNES o=
110,000 %3 2+62 1,980
2)IIRE FHIIQ2(R0I1H) 13,349
3)=e=2
6,290 +0. 05kW*398 S+ 122+ 1. 1 1,653
R EE =
1 12.6%*0.O5kw*398%*13/\I?_F*365%? 11,696
2)R0|F BBEY |2
47 .220%0.015kw*77 1S+ 13 A1 2H+3652* 1. 1 2,850
NHIEES S22/
2,500,0002 *27H A 5,000
1NO2EMERH 282 500, 0002 *13] 500
NYXS A Es 11|22
100,00024%103] 1,000
1)5d ISAXTAIES SR
500,000 *123] 6,000
203 PRFXH| 1,500 1,500
CIREESEEES 1,500 1,500
=0 A 1,500 1,500
NEIEALE RRze JREx
1,500,000 1,500
308 XHXISHHISOIA 120,000 120,000
07 REXISHHZIRE2 120,000 120,000
=0f A 120,000 120,000
1)R01& |2 222 120,000,000 120,000
401 Al&HIZ =00l 704,410 704,410
01 Al&H] 700,000 700,000
=0f A 700,000 700,000
1SIEAILS HUIZAHELDRN 25
Ha 50) 700,000, 0002%14! 700,000
03 Al& S 4,410 4,410
20f 4k 4,410 4,410
1)ZARZE AlE200H
700,000, 0002 *0. 63% 4,410
Xt EAIAE L DIgRAlE SX22(EX) 26,053 37,182 A11,129
Al 3,600
=] 22,453
201 L] 25,453 19,782 5,671
Al 3,600
=] 21,853
02 2229 25,453 19,782 5,671
Al 3,600
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2A: X2
M2 JHoHSls OHEEH CAlRe
Ce: 5t S AI8Z2 S22 (EHel: &2
SH - B BRI(3H) - NN - BAS B SR et
=] 21,853
204 25,453 19,782 5,671
Al 3,600
= 21,853
NHIAS2AIAE AR 4,163
21Ees 6, 1602 +5kw*BIH A*122%1 . 1 3,253
2)deARE
107 .72%80kwh*8IH A 1221*1 . 1 910
nolalZSAle gxzel
1,300,000 24*8IH A 10,400
Al 3,600
= 6,800
NXGteERR=a 2Kz
850,0002 %9 A 7,650
1)Kt BRR=a 22|
900, 0002433 2,700
NABIERASAL RESLRSE
5,0002 %904 Ax 12 540
203 AREZIH| 600 600
03 AIRFEZIARFZIY| 600 600
S 600 600
NPILUSASAAIL 22| YREX
600,0002! 600
ASHE EH| Z&HHE(HE) 28 50,000 0 50,000
401 AlZHIZ 20| 50,000 0 50,000
01 Al&H 50,000 0 50,000
20f 4k 50,000 0 50,000
1)ASHE XY ZaHe #HY 89
50,000,000& 50,000
S ENEEIEEETE=T] 7,447,163 8,880,406 1,433,243
St HHl ¥ EEAIY XZ F=& 7,447,163 8,880,406 1,433,243
St=AlEE 22 2,718,043 2,364,994 353,049
201 2Bty 105,993 58,839 47,154
01 At22e|d| 18,603 16,959 1,644
204 18,603 16,959 1,644
NEZH 943 P S 105, 3002 %84 843
NZ2E 2X 72 S 39,8001+ 1074 3%
1)ot210 ATE 7Y 2,602,000 x1A! 2,602
1) =2 32| 8,000 182 x2Alx30 8,640
1) 23RS AL 25,0008+ 182 %23 900
NAlEz2I2 TI=y| 5,220
2)2e= 70,0004+ 18 x13] 1,260
2)QH &} 70,0002 %1813 1,260
2)29 L &3t 70,0002 %182 %13 1,260
2)arst= 80,0002 *18%*13] 1,440
02 222 87,390 41,880 45,510
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SA: X232t
HE: GlaDIEtAIEO] &E 2 FH|
Tl GH4R FH| 2 =LA XS E=X (o) ®el)
SN T BR() - AIBAY - BaS B SR RS2
20{ 4k 87,390 41,880 45,510
1) &5k &3l 180,000*13 180
NYEXS A ss IP|1RH2
100,000 %103 1,000
1)0I1E Xt 998
2)RFHI(3LR) 1,8000%110L*1CH 198
28R 100,000 *4CH 400
2)==cltl 100,0002*43] 400
1AIEEH SXI6I(5H4=21)
6,000,000 % 14! 6,000
1otz 2n2 10,904
2)FIIR3 17020%1, 350KNH* 122+ 1. 1 3,030
AerEes BE0R+275E*122%1 . 1 2,360
2)otER3 BO0R*275E#12R%1 . 1 2,178
2)HZHI(ZAIDIA) 1, 100R1%240 T *9 2 2,376
2)2OIHHIAIAE AI2E
80,0002 %12 960
1) X2 14,808
2)28s 700, 0002 *4CH 2,800
2) RES RHA 130, 00024 *4CH 520
2) 2 At 70,0002 *4CH 280
2)eigt] 1,4002 % 140L*4CH* 122 9,408
2)ARE U B 200, 0002443 800
2)BAe 2e2 250,000 *43] 1,000
1)ZA2XALE CCTV %=2Id| 800, 0004 *3CH 2,400
12T 400,000 * 182 7,200
1)IHALE M EH| 50,00094%1% 50
)5t M2AE T X2 43,850
2)EREGHA AIERH| SXIH
4,000,000 *9CH 36,000
2)ATIYHI0|A! AIAEH| SXIH]
2,000,000241CH 2,000
el QF 50,0002+ 13CH*9R 5,850
203 PR=XH| 2,380 2,380
03 AIZEAIARETH| 2,380 2,380
204 2,380 2,380
1atEAEE Y| 42 2iet3]
1,300,000& 1,300
1ateAlL 2R 2rets||
30,0002 182 *23] 1,080
206 TH2H| 93,820 89,000 4,820
01 HEH 93,820 89,000 4,820
2 0jl A 93,820 89,000 4,820
1atEAlLE X2 84,820
2)RBOHE = 2 LrEI(FHX| ZF)
400, 00024407 16,000
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SA: X232t

S Sl=DIBIAIES] &F L A
CHol: SlBID| JHl o FSAY Xz =X (Ero): ®R)
SN - HH . SR(SH) - KISA - BES B S Mt
2)HSE0] =2 & gHEI(1,000mm)
82,000 = 170EA 13,940
2)H=SE0| =2 & gHEl(500mm)
45,0002 % 140EA 6.300
2)8IZ2E0] XD 55,0002 *600H 33,000
2)22H 50,000 70 3,500
2)AHE 9,000 %200 1,800
2)E2E+TH(EoIAZ)
14,000& 200 2,800
2) 0| =& 2(0=300mm) 42,000 *120m 5,040
2)HSHIISH2IH| 61,0002 *40m 2,440
)24S5 Y2200 =2Z200(1,000mm)
180,000 *50H 9,000
303 ZAa= 1,800 2,560 AT760
01 A2 1,800 2,560 AT760
S0l & 1,800 2,560 AT760
1)B2E MY =512 100, 000! 18 1,800
401 AIZHIL 20| 2,509,000 2,207,920 301,080
01 Al&HI 2,500,000 2,200,000 300,000
=0 A 2,500,000 2,200,000 300,000
1)ol=AIEE B4 A
2,500,000,0002114! 2,500,000
03 AlL=0HHI 9,000 7,920 1,080
S0 A 9,000 7,920 1,080
1) SARZE AIZ 200
2,500,000,000&*0.36% 9,000
405 RHAHFSHI 5,050 4,295 755
01 AL =SFSHI 5,050 4,295 755
=0 A 5,050 4,295 755
1)AE SEI| 830, 00024 +5CH 4,150
NEESCSY R 300, 0002 *3CH 900
otk =4 1,529,340 1,529,340 0
201 L823d| 23,040 23,040 0
02 2323l 23,040 23,040 0
S0l & 23,040 23,040 0
NESI 422 29 2 22
970,000 *12CH 11,640
=4l 282 950,000 * 12CH 11,400
203 ER=&d| 900 900
03 AIHFRSFRFEH| 900 900
S0l & 900 900
1ol =LY =X 900,000 900
401 AlZHIL 200 1,505,400 1,505,400 0
01 Al&HI 1,500,000 1,500,000
=0 A 1,500,000 1,500,000
1)ot=E =4 ZA 1,500,000, 0002 % 1Al 1,500,000
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FA:
X ZH -
[ I

cHol:

A
B
]
o

SN T BR() - AIBAY - BaS B S s2
03 AlE=0HLI 5,400 5,400
S0l & 5,400 5,400
1) SARZE AIZ200HI
1,500,000, 000& *0. 36% 5,400
ot-iE HUFH 29 170,000 170,010 A10
401 AIEHIZ2018] 170,000 170,010 A10
01 Al&HI 170,000 170,010 A10
=0 170,000 170,010 A10
1)ot-ig JUFAH
170,000,000 +14] 170,000
& ol=OHE HUISAL 602,660 1,196,792 594,132
203 LRF=&Y| 500 500 0
03 AIRMFRIHSFAIY| 500 500 0
=0 500 500 0
1)5t=0HE FH|IZAF 213 500,000 500
401 AIEBHIZ 20| 602, 160 1,196,292 A5, 132
01 Al&HI 600,000 1,192,000 A592,000
S0/ & 600,000 1,192,000 A592,000
1)ot=0E FHHISA 600,000,000 x 1Al 600,000
03 AlE=0HHI 2,160 4,292 A2,132
S0l & 2,160 4,292 A2,132
1) SARZE Al 20|
600,000, 000& *0. 36% 2,160
Kot =8 EYUXAE AXISA 701,000 701,000 0
203 LRF=&Y| 1,000 1,000 0
03 AIMFRIHSFAIY| 1,000 1,000 0
=0 1,000 1,000 0
NESSRAE X 23 2HE3 S
1,000, 000& 1,000
401 AlZHIL 200 700,000 700,000
01 Al&HI 700,000 700,000
=0 A 700,000 700,000
1)20t0/2 &x| 400.00021%1. 4507H 580,000
1)ARYXIAIE &X 150, 0002 *800 7K 120,000
B YXAIE X X3 20,000 0 20,000
402 2I2tXHE01H 20,000 0 20,000
01 QIZIXEZAIE SR (KHAMITHE) 20,000 0 20,000
S0l & 20,000 0 20,000
NS0 4X X 5,000, 00024 +47H 20,000
TEZ 30 FH S 24 &= S22 HUISAF 702,520 0 702,520
401 AlZHIL 200 702,520 0 702,520
01 Al&HI 700,000 0 700,000
S0l & 700,000 0 700,000
NEEZ 329 =8 S 214 =5 o=z
HHISAt 700,000,000+ 14! 700,000




SA: X232t
HE: GlaDIEtAIEO] &E 2 FH|
CHRl: SHER0] HH| L =LA X =X EERE))
SN T BR() - AIBAY - BaS B SR RS2
03 AIZS20HH 2,520 2,520
20f At 2,520 2,520
1) 2ARZE AIZ20Y]
700,000, 0002 %0. 36% 2,520
L2272 41 T S 4L SR BRTA 501,800 0 501,800
401 AlEHI LS 501,800 0 501,800
01 Al&H] 500, 000 0 500,000
20{AH 500, 000 0 500,000
Noalzo72 41 =8 S 414 g2z 2
=SAH 500,000,000 * 14! 500,000
03 AlZSHH 1,800 1,800
20{AH 1,800 1,800
1)ZAZE AIAL20H
500,000, 0002 *0. 36% 1,800
OIfEZ 21-1 =8 S A FEBAZ BLTAL 501,800 0 501,800
401 AlEHIZL 2 501,800 0 501,800
01 Al&H] 500, 000 0 500,000
20{AH 500, 000 0 500,000
1elxE2 21-1 T S 2044 2822
S4TA 500,000,000+ 14! 500, 000
03 AlZSHH 1,800 1,800
20{AH 1,800 1,800
1) 2ARE AlZ20Y]
500,000, 0002 *0. 36% 1,800
N EGEEE N 43,000 42,000 1,000
THEHo et 2| S22t 5t 43,000 42,000 1,000
OFMZF[QII T OHMAA U FY| 30,000 30,000 0
201 LBt 30,000 30,000 0
01 AFRZ2/H 30,000 30,000 0
20{AH 30,000 30,000 0
NHASE HEAEA 48
30,0002 %9007+ 27,000
1)Feg AUNSE DY
3,000,000 % 14! 3,000
KEIIEE HEAAL SX B2 13,000 12,000 1,000
201 LBt 13,000 12,000 1,000
02 2229 13,000 12,000 1,000
S0f At 13,000 12,000 1,000
DXEIIEEHS)| R BSE2H
10,000,000 %14 10,000
NRRIEEHED| 22l
3,000,000 % 14! 3,000
A 2HAY| 1,462,746 1,457,574 5,172
ol AH|(X|4=1t) 1,373,261 1,311,264 61,997
ol 2AH|(X|4=1t) 1,373,261 1,311,264 61,997
101 Q14| 1,163,263 1,106,633 56,630
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SN XD
M dZ2AAL|
CHol: ol 2oiH|(RI%TH) (SHol: &)
SN T BR() - AIBAY - BaS B SR RS2
03 BRA(INHL) 2224 1,163,263 1,106,633 56,630
S0l & 1,163,263 1,106,633 56,630
1)ol=AlE2ed 30 1,163,263
2)JlEs 3,871,83021%18%* 122 836,316
2)=g 54,951
N2+ 866,390 * 182 %23 31,191
3)INESY 60,0002+ 182 * 122 12,960
R l=Ea= 40,0002+ 18 * 122 8,640
IJsEAS 20,0002 +9T* 122 2,160
2)HESIHI 3,871,830 %1820 . 5+23] 69,693
ANEIEEERSE
165, 2803 *200%*2 2 x 18 B +6E 71,401
2)RUIRLY
165, 2803 *200%*2 2 x 18 B +6E 71,401
)t RE2EII=Y
165, 28021 * 182 %20L 59,501
304 HASRESS 209,998 204,631 5,367
04 SR (PIH) 22X B8R =2 S 209,998 204,631 5,367
S0l & 209,998 204,631 5,367
NesFE3 1,163,263,00024%4. 5% 52,347
NAPEE= 1,163,263,00091%3.545% 41,238
NAIQYLER 41,238,00091%12.95% 5,341
nNog=es 1,163,263,00024%1.75% 20,358
AT EE 2 1,163,263,00021%0.921% 10,714
DESAEESE= 40,000, 0002 2 80,000
Jl23dul(Xl==1t) 89,485 146,310 256,825
Jl2gdul(xl=1t) 89,485 146,310 256,825
201 L823d| 35,485 55,830 220,345
01 AtR2eldl 35,485 55,830 220,345
S0/ & 35,485 55,830 A20,345
AR 22 2,225
INBEE 12021%6, 0000H 720
2)HIEE 4515, 0000H 225
2)2ANE2AX} 40,0002+ 12AL K} 480
2)) |2 ANREEH| 10,0002/ %20 43| 800
NEMARE L X2 4,460
2)=2AD| £ 140,000 %43 560
2)=2AD| EE 350,000+ 13] 350
2)EAD| |XI2e] 200, 00013 200
2)d0IMZRIEe HHEH
300,000 *4Z5+23| 2,400
2)H0IMZRIE =& 350,000+ 13] 350
HEUS 100,0002%23] 200
2)d0IMZRIE |Xl2el
200,000 *23] 400
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FA:

o
Hm: o

=
=t}
o
0
]
0

Pl Jl23HI(X
% = I O &kt &= 0 AboH —~
2N - Z2H - H(SH) - MIRAY - BES (Z= o) (D15 %4) Huws
1)JI2HR2EX S|
8, 0002 %202 %2041 % 122 x75% 28,800
202 44| 50,400 85,680 235,280
01 =2LHH] 50,400 85,680 235,280
S0l & 50,400 85,680 235,280
1)1242=8 o]
20,0003 *20B* 14«12 +75% 50,400
203 ER=&d| 3,600 4,800 21,200
04 2EAN2IERFEI 3,600 4,800 21,200
S0 A 3,600 4,800 21,200
1)209! Olat 300,000 %122 3,600

- 683 -





